

**RLE Events** 

**11/12/2024** 02:00 PM | Team To Drive to Indio

11/13/2024 08:00 AM | Installation Day. 1 11/14/2024 08:00 AM | Installation Day 2 11/15/2024 08:00 AM | Installation Day 3 Indio and Sand Hotel

11/15/2024 11:00 PM | Strike Sand Hotel 11/16/2024 08:00 AM | Installation Day 4 Event Day

11/16/2024 05:00 PM | Stand By 11/17/2024 08:00 AM | Strike Event

11/18/2024 08:00 AM | Crew to Drive back to LA

PO: Shipping Address: Indio Polo Field & Sands Hotel Invoice Date:

Due Date: Upon Receipt

Salesperson: Romina Manolio

Description		Qtty	Price		Total
Others					
	Truss Covers RECEPTION  Pacific Como Velvet w/ Velcro (4) 12" x 12" x 17' (2) 12" x 12" x 22'	6	\$168.00	T	\$1,008.00
	Truss Covers AFTER PARTY  Burgundy w/ Velcro TRUSS After Party (2) 12" x 12"x 22' (1) 12" x 12" x 65' for a 20'Diam Circular truss	1	\$540.00	T	\$540.00
	Shield Covers  SHIELDS RECEPTION - PACIFIC COMO VELVET - SMALL (30)   SHIELDS TUNNEL - CHAMPAGNE -SMALL (20)   SHIELDS AFTERS BURGUNDY - SMALL (20)   LARGE (12)	70	\$6.00	T	\$420.00
			Total Oth	ners	\$1,968.00
Pool Party					
77-(Artistration audito	Dj Booths - Slatted Wood - Multicolor White Matching Fruit cart - Arcade WhiteSemi Gloss, Custom Sing decal added 71"1/2W x 30" x 48"H - Shelf 26"W x 12"H	1	\$600.00	T	\$600.00
	Props - Carts - Display Cart White w/ custom logo in front panel - Arcade White Semi Gloss 96" W x 36"L x 90" H	1	\$960.00	T	\$960.00
	Small Dining Tables - Palm Springs - Multicolor Wire W/ White Glass Top Painted in Black 31"Diam x 29" 1/2H - Custom Color upon request	6	\$240.00	T	\$1,440.00
	Dining Chairs - Palm Springs - White Wire Chair Painted in black / white cushions with Black Piping 21"W x 24"L x 32"H	24	\$30.00	T	\$720.00
			Total Pool P	arty	\$3,720.00

escription		Qtty	Price		Total
Rehearsal Dinn	er Pool Area				
	Sofas - Palm Springs - Tufted Off White	4	\$600.00	Т	\$2,400.0
	6'W x 3'L x 30"H - Mix n' Match with Palm Spring Collection				
	Coffee Tables - Marrakesh - Carved Painted Wood Rectangular	4	\$234.00	Т	\$936.0
	48"W x 25"L x 21"H				
	Club & Lounge Chairs - Bora Bora - Accent Chair 26"W x 27"L x 33â₪ H	8	\$72.00	T	\$576.0
	Accent Tables - Capitola - Metal - Matte Sage	4	\$120.00	Т	\$480.00
	14-3/4" Round x 22-1/2"H				
	Accent Tables - Capitola - Metal - Sienna Matte 14-3/4" Round x 17-3/4"H	4	\$120.00	Т	\$480.00
	Assorted Accent Pillows	70	\$30.00	Т	\$2,100.00
	Palm Springs - Dining Table - Reused from Pool Party	4	\$0.00	Т	\$0.00
	Palm Springs - Dining Chairs - Reused from Poll Party	16	\$0.00	Т	\$0.00
	Club & Lounge Chairs - Peacock Armchair 33"W x 26"L x 53"H - 16" seat height	2	\$210.00	Т	\$420.00
	Club & Lounge Chairs - Peacock Chair 02 42.25"W x 27.75"L x 57"H - 18" seat height	2	\$210.00	T	\$420.00
	Club & Lounge Chairs - Peacock Chair 01 43½"W x 21"L x 58"H - 18" seat height	2	\$210.00	Т	\$420.00
	To	otal Rehearsal Dinner Pool Area			\$8,232.00
Rehearsal Dinn	er Olive Garden				
	Small Dining Tables - Palm Springs - Multicolor Wire W/ White Glass Top Painted in Black 31"Diam x 29" 1/2H - Custom Color upon request	1	\$240.00	T	\$240.00
	Palm Spring Dining Tables - Re used from pool party	2	\$0.00	Т	\$0.00
	Dining Chairs - Palm Springs - White Wire Chair In Black - White Cushion w Black Piping - Send extras (10) 21"W x 24"L x 32"H	4	\$30.00	T	\$120.00
,	Palm Springs - DIning Chairs re used from Pool party	8	\$0.00	T	\$0.00
	Total	Rehearsal	Dinner Olive Gar	den	\$360.00
Ceremony:					
	Clear Easel	1	\$30.00	Т	\$30.00

Description		Qtty	Price		Total
	Pedestal - Buenos Aires - Clear 04 for Kiddush 14"W x 14"D x 24"H	1	\$60.00	Т	\$60.00
			Total Ceremor	ny:	\$90.00
Cocktails :					
	Custom Made Table cloth for 12'x40"x30"H Rust Como Velvet With thick 6" fringe	1	\$660.00	Т	\$660.00
	Custom Made Pillows in Teal Velvet Como with Champagne Monogram Client to Keep - 20" x 20" with piping	4	\$108.00	Т	\$432.00
	Custom Made Table cloth In Rust Velvet Como For Raw Bar 60" round with thick 6" Fringe	1	\$480.00	Т	\$480.00
	Bars - Monaco - 5pc Round (e/ Bar: 4 Large- 1 Small ) Cover Mirrors - Painted mahogany Clear coated 16'10"Diam x 3'7"H - Color Change Upon Request	1	\$4,800.00	Т	\$4,800.00
	Barback - Boston - Round W/ Plexiglass Tier Shelves Painted Mahogany - High gloss 4'2"D x 7'2"H - Color Upon Request	1	\$360.00	Т	\$360.00
			Total Cockta	ils :	\$6,732.00
Cocktail Wall Οι	tside tent				
	Valance	1	\$0.00	Т	\$0.00
	Champagne Stretch Velvet To Cover Outside off tent 164' x 13'H Creating 1 entrance to Reveal Tents entrance - Service	1	\$3,564.00	Т	\$3,564.00
		Total Cock	ctail Wall Outside t	ent	\$3,564.00
Tunnel Entrance					
	Gable Wall In champagne Stretch Velvet  1- Side to Cover after Party 71' W to the Peak    1- side to Create entrance for reception 71' W to the Peak	2	\$2,160.00	Т	\$4,320.00
	Center Ceiling Bay in Champagne Stretch Velvet	1	\$2,160.00	Т	\$2,160.00
	Chandeliers - Vienna - Amber 68" Champagne Stretch Velvet Ruching 68"W X 83"H - 210lb - 1,500Watts	1	\$1,680.00	Т	\$1,680.00
1919 -	Heirloom Shelf ( Sub Rented)	2	\$474.00	Т	\$948.00
	Custom Made Table cloth In Pacific Velvet For a 36" round with thick 6" Fringe	1	\$240.00	Т	\$240.00
		-	Total Tunnel Entra	nce	\$9,348.00
Reception :					
	Custom Made Peak Wall in Pacific Velvet  100x 30'H to Cover the stage Wall stage with Overlapping Swags in	1	\$9,600.00	Т	\$9,600.00

Description		Qtty	Price		Total
	Custom Made Peak Wall In Pacific Velvet 100 x 30'H To Cover entrance wall With Overlapping Swags	1	\$9,600.00	Т	\$9,600.00
	Custom Made Wall Treatment to Cover 200'x 14'H In Pacific Velvet W /Valacne Also Covering Tech Area Left and Right Stage With Extra FAbric To Create Movement on Side walls	1	\$9,000.00	Т	\$9,000.00
	Custom Made Ceiling to Cover 5 Bays in a Matching Color Color IN Poplin Lagoon 2050	1	\$30,000.00	Т	\$30,000.00
	Over Sized Man Build Palm Trees 4- Large Palms 12 to 14th 2-10'x12'H	1	\$7,200.00	T	\$7,200.00
	Dining Chairs - Florence - White W/armrest & Wood Frame 27"W x 23"L x 40.5"H	2	\$22.80	Т	\$45.60
	Barback - Wood W/ Shelves Painted in Mahogany With Tiffany Panels Extensions 2 per Barback 96"W x 20"L x 12'H - Frame Color Upon Request	2	\$1,440.00	Т	\$2,880.00
	Bars - Carmel - Straight 10' Custom Front in Cheetah Print - Top In Mahogany 10'W x 30"L x 42"H - Front Options Upon Request	2	\$1,800.00	Т	\$3,600.00
	Bars - Carmel - Curved 6' Custom front in Cheetah Print Top In Mahogany 6'W x 30"L X 42"H	4	\$1,200.00	Т	\$4,800.00
T	Dining Table - Tuscany - Dark Wood Round 66" 66"Diam X 30"H	8	\$480.00	Т	\$3,840.00
	Booths - Round Channeled Champagne Velvet 2pc Set	8	\$720.00	Т	\$5,760.00
	Custom Made Cover For Booth In Tamara Velvet	8	\$540.00	Т	\$4,320.00
	Stage Front In Mahogany To cover 32'x 32"H and 2 sides 1- 32'x 32" front Front to have sections with Fabric for speakers	1	\$5,760.00	Т	\$5,760.00
	2- 8'x32" Sides				
	Dance Floor 32'x 20' with Full wrapped DEcal	1	\$8,160.00	Т	\$8,160.00
	Chandeliers - Vienna - Amber 48" Pacific Velvet Ruching 10'H 48"W X 57"H - 100lb - 750 Watts	3	\$1,320.00	T	\$3,960.00
	Chandeliers - Vienna - Amber 44" Pacific Velvet Ruching 10'H 44"W x 47"H - 95lb - 750 Watts	4	\$960.00	T	\$3,840.00
a)146 r	Metal Grids for Shades (24) 8x2 (2) 4x2 Painted in black	1	\$0.00	Т	\$0.00

Description		Qtty	Price		Total
	Custom MAde Mix and Match Shades  Different Sizes and Shapes and Covers to be place in the center of the Room to Fill in a 20 x 20 area and	1	\$43,200.00	Т	\$43,200.00
	Console Tables - Florence - Multicolor Whitewash 6' Painted in mahogany 71"W X 16"L X 31"H - It can be painted with a whitewash finish	4	\$144.00	Т	\$576.00
	Table Lamps - Ceramic Cheetah  With Custom Shade in Hot Pink Dupioni - Flat   Battery Operated Light Bulb   Cut Cable	2	\$180.00	Т	\$360.00
			Total Reception	on :	\$156,501.60
Option on Mirror	wall				
	Wall Mirrors - Venice - Wall Mirror Sandyford 24"W x 36"H	4	\$144.00	Т	\$576.00
	Wall Mirrors - Savannah - Oversized W/ Moulding 02	2	\$780.00	Т	\$1,560.00
	Wall Mirrors - Oversize Carved Wood - Gold Finish in Antique Gold 65" x 89"H	2	\$300.00	Т	\$600.00
	Wall Mirrors - Oversized Carved Wood Wall Mirror Finish In antique gold 9'W x 8'H - Custom Frame Color Upon Request	3	\$360.00	Т	\$1,080.00
	Wall Mirrors - Savannah - Oversized W/ Mouldings 01 Finish IN antique Gold 79"W X 99"H - Custom Frame Color Upon Request	1	\$360.00	Т	\$360.00
	Wall Mirrors - Florence - Wall Mirror 02 Finish in antique gold 65"W X 84"H - Custom Frame Color Upon Request	2	\$210.00	Т	\$420.00
		Total C	ption on Mirror v	vall	\$4,596.00
Afterparty:					
	Table Lamps - Metal & Mango Wood W/ Antique Finish 4"Diam x 11 1/2"H - LED operated	6	\$36.00	Т	\$216.00
	Burgundy Velvet 2- Gable walls 2- 50'x 13'H walls with Valance Burgundy Tassels	1	\$7,320.00	Т	\$7,320.00
	Ceiling Treatment in Burgundy Velvet to cover 3 bays	1	\$18,000.00	Т	\$18,000.00
	Kentia Palms With Black Fluted Urns	4	\$360.00	T	\$1,440.00

Description		Qtty	Price		Total
	Coffee Tables - Manchester- Round Wood 54" Diam x 20"H	2	\$180.00	Т	\$360.00
	MIX AND Match Pillows	36	\$30.00	Т	\$1,080.00
	Accent Table - Savannah - Mirror Top & Gold Faux Bamboo	4	\$48.00	Т	\$192.00
	Tray Only to go over Leather ottomans and Coffee tables Manchester 30"W x 19"L x 20"H				
	NEW Round Mahogany Barback	1	\$432.00	Т	\$432.00
	Bars - Monaco - 5pc Round (e/ Bar: 4 Large- 1 Small) Painted Mahogany 16'10"Diam x 3'7"H - Color Change Upon Request	1	\$4,800.00	Т	\$4,800.00
	Dj Booth - Mirrored Curve Painted Mahogany 70âM M W 28âM D x 46 ½âM M	1	\$600.00	Т	\$600.00
	Chandeliers - Tuscany - Black Brass 40" No Crystal - burgundy Shades 40"W X 43"H - 40lb - 750 Watts	4	\$720.00	Т	\$2,880.00
Community of the Commun	Sofas - London - Sectional - 3pc	2	\$720.00	Т	\$1,440.00
The second secon	Left 74"W x 40"L x 31"h Middle 78"W x 40"L x 31"h Right 74"W x 40"L x 31"h - Can be 3pc o 2pc				
	Sofas - London - Chesterfield 02	4	\$480.00	Т	\$1,920.00
	86"W x 40"L x 31"h				
	Club & Lounge Chairs - Budapest - Vanity Chair Burgundy Velvet & Fringe 26"W x 25"L x 28"H	6	\$216.00	Т	\$1,296.00
	Small Dining Tables - Paris - Bistro Table W/ Marble Top 24"Diam X 29"H	6	\$180.00	Т	\$1,080.00
	Benches - Iron Drops Cheetah Print Cushions 48"W X 16"D X 20"H	2	\$240.00	Т	\$480.00
1011	Ottomans - London - Leather Tufted 48"W x 48"L x 17"H	2	\$108.00	Т	\$216.00
	Club & Lounge Chairs - Lyon - Vanity Chair Oatmeal Custom Upholster In Burgundy Velvet 26"W x 25"L x 28"H	5	\$240.00	Т	\$1,200.00
	Club & Lounge Chairs - Lyon - Vanity Chair White Custom Upholster In burgundy Velvet 25"W x 26"L x 28"H	1	\$240.00	Т	\$240.00

Description		Qtty	Price		Total
	Club & Lounge Chairs - New York - Swivel Chair Grey Velvet	4	\$216.00	Т	\$864.00
	With Custom Pacific Blue Covers 28"Diam x 34"H				
	Table Lamps - Recycled Glass & Metal	12	\$24.00	Т	\$288.00
	4-1/2" Diam x 6 1/2"H - LED Operated				
	Club & Lounge Chairs - New York - Low Chair Purple Custom Upholstery in Zebra Print 25"W x 32"L x 30"H	4	\$240.00	Т	\$960.00
-	Club & Lounge Chairs - New York - Low Chair Charcoal Custom Upholstery in Leopard 25"W x 32"L x 30"H	4	\$240.00	T	\$960.00
			Total Afterpar	ty:	\$48,264.00
Services					
	Installation For Dancefloor and lodging	1	\$1,000.00		\$1,000.00
	Greenery installation	1	\$13,870.00		\$13,870.00
	Hotel For Greenery Team - this is a hold till Rooms are Booked	2	\$500.00		\$1,000.00
	Drive to Palm Springs	14	\$350.00		\$4,900.00
	Day one of installation Wednesday	14	\$650.00		\$9,100.00
	Day 2 of installation Thursday	14	\$650.00		\$9,100.00
	Day 3 of Installation Friday - Instal polo Field and Sands	14	\$650.00		\$9,100.00
	Strike Sand Over night	4	\$450.00		\$1,800.00
	Installation Day 4 and event day	10	\$450.00		\$4,500.00
	Stand by	4	\$350.00		\$1,400.00
	Strike team	14	\$650.00		\$9,100.00
	Crew Driving back to LA	14	\$350.00		\$4,900.00
	Transportation	8	\$550.00	Т	\$4,400.00
	Hotel For Crew from Tuesday to Monday Final price wehn reservations are made	8	\$1,500.00		\$12,000.00
	Hotel From Manager from Wednesday to Sunday- Final Proce when presentation are made	1	\$1,250.00		\$1,250.00
	Per diem for team	16	\$483.00		\$7,728.00
	Manager on site - Presentation - Renderings - Desing consultation	1	\$12,000.00		\$12,000.00

Please make checks payable to Revelry, Inc.

Total Products:
Total Labor/Services/Misc:

\$243,375.60 \$107,148.00

Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it PDF Generated on 12/19/2024 @ 01:02 PM PST

Wear & Tear (4.00%): \$9,735.02

Packing (2.00%): \$4,867.51

Taxes: \$23,538.68

Discounts: (\$0.00)

**Total:** \$388,664.82

Payments: (\$387,445.12)

**Balance:** \$1,219.70